1/25 (row1 coll1)



21725 (row1 col?)



225 (row1 col})



4/75 (row1 cold)



5/25 (row1 colB5)



A/25 (row? coll)



7/25 (row? col?)



295 (row? col})



q/25 (row? cold)



10/25 (row? col5)



11/25 (row? col1)



12/25 (row? col?)



13/25 (row? coll)



14/25 (row? cold)



15/25 (row? col5)



16/25 (row4d col1)



17/25 (row4d col?)



12/25 (row4d coll)



19/25 (row4d cold)



20/25 (row4d col5)



21/25 (row5 coll1)



292125 (row5 col?)



s

-

=

22/25 (row5 coll3)



24/25 (row5 cold)



25/25 (row5 col5)



